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Genetic Code

I Instructions for translating information into proteins Z OLM M m ﬂ{u gﬁ )
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IV. Common to all living organisms

Whi_ch statement below explains why some microorganisms have the ability to repair a malfunctioning gene by using the human

version of the gene? ‘ U ("DYV\ LS +D aﬂ [ ( \jrl ﬂ-ﬂa” (D *S,mg
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Transcription Translation

What is the function of mRNA in the diagram above? —)G/
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What is the structure that is labeled by an X? M p‘
What part of protein synthesis does this diagram represent? {' R
What is the specific destination of X?
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Given the DNA sequence 5 ‘-CAC{GTAJT GCIAA)‘ATI‘-S‘, the primary structure of the protein it

codes for is described as — \]CL\ B HISJ‘- _T\(\V{D\r\l"\-q- _Pv\wq\ e S‘{‘Dp

The following chart outlines some of the differences in protein synthesis in prokaryotes and eukaryotes.

Protein Synthesis
: ; Prokaryotes . Eukaryotes,

Order of protain Couplad transcription- Transcription must tinish
synthasks ] translatien befora translation bagins
Introns and axons. | Do not contain introng :::13;" Ll L e
Size of ribosome. Smatt Large

cdwomosome 5 .

tructura sy 1 circular chromosome Many linear chromosomes

Based on the information in the chart above, what can you determine about the model below?
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Which of the following best describes the main purpose of the sequences of nitrogenous bases in DNA?

The procedure for creating a DNA fingerprint consists of first obtaining a sample of cells containing DNA, extracting the DNA
from those cells, and then purifying it. The DNA is then cut at specific points along the strand with restriction enzymes. This
produces fragments of varying length of DNA that are sorted by placing them in a gel and subjecting that gel to an electric
current. The shorter the fragment, the more quickly it will move toward the positive pole (anode).

The separation of DNA fragments using electric current is called and the banding patterns that this separation

process results in can be used to . el 6\ QL}PTU VioveSis
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Scientists plan and implement an investigation to show the differences and similarities in DNA sequences among various types o
rodents. They want to analyze their genomes to see which are most closely related. What type of equipment and/or technology would
be most important in this type of investigation?
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What significant role does DNA play in the formation and development of an organism? V. UDGU S Y\.JF(3‘( W\Q:’,_f 8]

Which of the following statements best describes how the traits 05;_ orgamsm are determmed by the DNA in their cells? o
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The genetic code of organisms determines thear traits, Whlch of the followmg DNA compoenents make up the genetic code? 6?‘0
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Mutated DNA in somatic cells occurs frequently but this mod:f’ ed DNA cannot be passed along C V\/\C\-—} Ul‘ 6(4(

to offspring because — OW% W\ y O 'd {,LKS CAax V‘bj

The following pair of words expresses a relationship. +O D'G,F Sp‘('] V\SK'
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Write pairs of words best expressing a relationship similar to that in the pair of words above? 5

Which of the following describes a role that ribosomes assume in the production of proteins?
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What is the purpose of this process? ‘i’D {:D\{‘ 1 Po\ k/ P‘Q_,ph CLQ S

Which type of ribonucleic acid is like a protein synthesis factory? v K N /)(
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The human karyotype shown above experienced a nondisjunction during meiosis. The person with the karyotype above isa —
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If a DNA template strand contains a triplet code of the following sequence of nitrogenous bases, the transcribed strand of RNA should

have which sequence of bases?
3'-GCA-5’ CGJ M

In eukaryotes, DNA never leaves the nucleus of the cell. Therefore, the genetic information is carried from the nucleus to the protein
producing mechanisms by —
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